

Huanyin Chen; Marjan Sheibani; Rahman Bahmani
Certain additive decompositions in a noncommutative ring

Czechoslovak Mathematical Journal, Vol. 72 (2022), No. 4, 1217–1226

Persistent URL: <http://dml.cz/dmlcz/151143>

Terms of use:

© Institute of Mathematics AS CR, 2022

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

CERTAIN ADDITIVE DECOMPOSITIONS
IN A NONCOMMUTATIVE RING

HUANYIN CHEN, Hangzhou, MARJAN SHEIBANI, RAHMAN BAHMANI, Semnan

Received January 30, 2022. Published online July 21, 2022.

Abstract. We determine when an element in a noncommutative ring is the sum of an idempotent and a radical element that commute. We prove that a 2×2 matrix A over a projective-free ring R is strongly J -clean if and only if $A \in J(M_2(R))$, or $I_2 - A \in J(M_2(R))$, or A is similar to $\begin{pmatrix} 0 & \lambda \\ 1 & \mu \end{pmatrix}$, where $\lambda \in J(R)$, $\mu \in 1 + J(R)$, and the equation $x^2 - x\mu - \lambda = 0$ has a root in $J(R)$ and a root in $1 + J(R)$. We further prove that $f(x) \in R[[x]]$ is strongly J -clean if $f(0) \in R$ be optimally J -clean.

Keywords: idempotent matrix; nilpotent matrix; projective-free ring; quadratic equation; power series

MSC 2020: 15A09, 16E50, 16U60

1. INTRODUCTION

Let R be an associative ring with identity. An element $a \in R$ is called *strongly J -clean* if a is the sum of an idempotent and a radical element that commute. Every strongly J -clean element is clean, i.e., it is the sum of an idempotent and a unit, see [1], [5], [6], [10], [11], [12]. But the converse is not true. It is of interest to investigate when an element in a ring is strongly J -clean. Recently, strong J -cleanness in a commutative ring has been studied by many authors, see [2], [3], [4], [9]. The motivation of this paper is to explore when an element in a noncommutative ring is the sum of idempotent and radical element that commute.

A ring R is a projective-free ring if every generated projective right R -module is free. For instance, every local ring and every principal ideal ring (may not be

This work was supported by the Natural Science Foundation of Zhejiang Province, China [grant number LY21A010018].

commutative) is projective-free. In Section 2, we investigate strongly J -clean matrices over a noncommutative projective-free rings. For a projective-free ring R , we prove that $A \in M_2(R)$ is strongly J -clean if and only if $A \in J(M_2(R))$, or $I_2 - A \in J(M_2(R))$, or A is similar to $\begin{pmatrix} 0 & \lambda \\ 1 & \mu \end{pmatrix}$, where $\lambda \in J(R)$, $\mu \in 1 + J(R)$, and the equation $x^2 - x\mu - \lambda = 0$ has a root in $J(R)$ and a root in $1 + J(R)$.

In Section 3, we are concerned on strongly J -clean power series over a noncommutative rings. If $f(0) \in R$ is optimally J -clean, we prove that $f(x) \in R[[x]]$ is strongly J -clean. This provides new kind of ring elements which can be written as the sum of an idempotent and a radical element.

Throughout, all rings are associative with identity. The symbol $M_n(R)$ denotes the ring of all $n \times n$ matrices over R and $GL_n(R)$ stands for the n -dimensional general linear group of R . Let M be a right module, $\text{end}(M)$ and $\text{aut}(M)$ stand for the ring of endomorphism and automorphism of M , respectively. Let $R[[x]]$ denote the ring of power series over R . We always use $[a, b]$ to denote the commutator $ab - ba$ for any $a, b \in R$.

2. STRONGLY J -CLEAN MATRICES

In this section, we characterize a strongly J -clean matrix over projective-free rings in terms of the solvability of the quadratic equation.

Theorem 2.1. *Let R be projective-free. Then $A \in M_2(R)$ is strongly J -clean if and only if $A \in J(M_2(R))$ or $I_2 - A \in J(M_2(R))$ or A is similar to a matrix $\begin{pmatrix} \alpha & 0 \\ 0 & \beta \end{pmatrix}$, where $\alpha \in 1 + J(R)$, $\beta \in J(R)$.*

Proof. \Leftarrow If $A \in J(M_2(R))$, then $A = 0 + A$ is strongly J -clean. If $I_2 - A \in J(M_2(R))$, then $A = I_2 + (A - I_2)$ is strongly J -clean. If A is similar to a matrix $\begin{pmatrix} \alpha & 0 \\ 0 & \beta \end{pmatrix}$, where $\alpha \in 1 + J(R)$, $\beta \in J(R)$, then there exists some $U \in GL_2(R)$ such that

$$A = U^{-1} \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} U + U^{-1} \begin{pmatrix} \alpha - 1 & 0 \\ 0 & \beta \end{pmatrix} U \text{ is strongly } J\text{-clean.}$$

\Rightarrow By hypothesis, there exists an idempotent $E \in M_2(R)$ and $W \in J(M_2(R))$ such that $A = E + W$ with $EW = WE$. Suppose that A and $I_2 - A$ are not in $J(M_2(R))$. Since R is projective-free, there exists $U \in GL_2(R)$ such that $UEU^{-1} = \text{diag}(1, 0)$. Hence, $UAU^{-1} = \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} + UWU^{-1}$. Set $V = (v_{ij}) := UWU^{-1}$. Then $\begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} V = V \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}$, whence, $v_{12} = v_{21} = 0$ and $v_{11}, v_{22} \in J(R)$. Therefore, A is similar to $\begin{pmatrix} 1+v_{11} & 0 \\ 0 & v_{22} \end{pmatrix}$, which completes the proof. \square

Lemma 2.2 ([4], Theorem 2.1). *Let $E = \text{end}({}_R M)$ and let $\alpha \in E$. Then the following statements are equivalent:*

- (1) α is strongly J -clean in E .
- (2) $M = P \oplus Q$, where P and Q are α -invariant, and $\alpha|_P \in J(\text{end}(P))$ and $(1_M - \alpha)|_Q \in J(\text{end}(Q))$.

Lemma 2.3. *Let R be projective-free and let $A \in M_2(R)$ be strongly J -clean. Then $A \in J(M_2(R))$ or $I_2 - A \in J(M_2(R))$ or A is similar to a matrix $\begin{pmatrix} 0 & \lambda \\ 1 & \mu \end{pmatrix}$, where $\lambda \in J(R)$, $\mu \in 1 + J(R)$.*

Proof. Suppose that $A, I_2 - A \notin J(M_2(R))$. By virtue of Theorem 2.1, we have $P \in GL_2(R)$ such that $PAP^{-1} = \begin{pmatrix} 1+\alpha & 0 \\ 0 & \beta \end{pmatrix}$, where $\alpha, \beta \in J(R)$. Thus, we check that

$$UAU^{-1} = \begin{pmatrix} 0 & -(1+\alpha)(1+\alpha-\beta)^{-1}\beta(1+\alpha-\beta) \\ 1 & (1+\alpha-\beta)^{-1}\beta(1+\alpha-\beta) + (1+\alpha) \end{pmatrix},$$

where

$$U = \begin{pmatrix} 1 & -1-\alpha \\ 0 & 1 \end{pmatrix} \begin{pmatrix} 1 & -1-\alpha \\ 0 & 1 \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 0 & (1+\alpha-\beta)^{-1} \end{pmatrix} \begin{pmatrix} 1 & 0 \\ 1 & 1 \end{pmatrix}.$$

Set $\lambda = -(1+\alpha)(1+\alpha-\beta)^{-1}\beta(1+\alpha-\beta)$ and $\mu = (1+\alpha-\beta)^{-1}\beta(1+\alpha-\beta) + (1+\alpha)$. Then $\lambda \in J(R)$ and $\mu \in 1 + J(R)$, as desired. \square

Many authors studied strongly clean matrices over a ring, see [6], [7], [8]. This inspires us to investigate strongly J -clean matrices over a projective-free ring. We are ready to prove:

Theorem 2.4. *Let R be projective-free. Then $A \in M_2(R)$ is strongly J -clean if and only if*

- (1) $A \in J(M_2(R))$, or
- (2) $I_2 - A \in J(M_2(R))$, or
- (3) A is similar to $\begin{pmatrix} 0 & \lambda \\ 1 & \mu \end{pmatrix}$, where $\lambda \in J(R)$, $\mu \in 1 + J(R)$, and the equation $x^2 - x\mu - \lambda = 0$ has a root in $J(R)$ and a root in $1 + J(R)$.

Proof. Suppose that $A \in M_2(R)$ is strongly J -clean, and that $A, I_2 - A \notin J(M_2(R))$. It follows by Lemma 2.3 that A is similar to the matrix $B = \begin{pmatrix} 0 & \lambda \\ 1 & \mu \end{pmatrix}$, where $\lambda \in J(R)$, $\mu \in 1 + J(R)$. Hence, $B \in M_2(R)$ is strongly J -clean. In view of Lemma 2.2, we have $2R = C \oplus D$, where $(I_2 - B)|_C \in J(\text{end}(C))$ and $B|_D \in J(\text{end}(D))$. Thus, $B|_C \in \text{aut}(C)$ and $(I_2 - B)|_D \in \text{aut}(D)$. Since R is projective-free,

C and D are free. As $B, I_2 - B \notin J(M_2(R))$, we see that $C, D \cong R$. Assume that (a, b) and (c, d) are bases of C and D , respectively. Then $C = R(a, b)$, $D = R(c, d)$. Then

$$R(a, b) \begin{pmatrix} 0 & \lambda \\ 1 & \mu \end{pmatrix} = R(a, b).$$

Set $\bar{R} = R/J(R)$. Then

$$\bar{R}(\bar{a}, \bar{b}) \subseteq \bar{R}(\bar{1}, \bar{1}).$$

Similarly,

$$\bar{R}(\bar{c}, \bar{d}) \subseteq \bar{R}(\bar{1}, \bar{0}).$$

Write $(\bar{a}, \bar{b}) = s(\bar{1}, \bar{1})$ and $(\bar{c}, \bar{d}) = t(\bar{1}, \bar{0})$. Then

$$(\bar{1}, \bar{1}) = z(\bar{a}, \bar{b}) + z'(\bar{c}, \bar{d}) = zs(\bar{1}, \bar{1}) + z't(\bar{1}, \bar{0}).$$

This implies that $1 - zs \in J(R)$, and so $s \in R$ is left invertible. Hence, $s \in U(R)$, as R is directly finite. Clearly, $a - s, b - s \in J(R)$, and so $1 - a^{-1}b \in J(R)$. $C = R(a, b) = R(1, \alpha)$, where $\alpha = a^{-1}b \in 1 + J(R)$. Analogously, $D = R(1, \beta)$, where $\beta = c^{-1}d \in J(R)$. As C is B -invariant, we see that

$$(1, \alpha) \begin{pmatrix} 0 & \lambda \\ 1 & \mu \end{pmatrix} = r(1, \alpha)$$

for some $r \in R$. It follows that $\alpha = r$ and $\lambda + \alpha\mu = r\alpha$, and therefore $\alpha^2 - \alpha\mu - \lambda = 0$, i.e., $x^2 - x\mu - \lambda = 0$ has a root $\alpha \in 1 + J(R)$. Likewise, this equation has a root $\beta \in J(R)$, as desired.

Conversely, if (1) or (2) holds, then $A \in M_2(R)$ is strongly J -clean, and so we assume (3) holds. As strong J -cleanness is invariant under similarity, we will suffice to check if $B = \begin{pmatrix} 0 & \lambda \\ 1 & \mu \end{pmatrix}$ is strongly J -clean. By hypothesis, the equation $x^2 - x\mu - \lambda = 0$ has roots $c \in J(R)$ and $d \in 1 + J(R)$. Then $c^2 - c\mu - \lambda = 0$ and $d^2 - d\mu - \lambda = 0$. Choose $C = R(1, c)$ and $D = R(1, d)$. Since

$$(1, c) \begin{pmatrix} 0 & \lambda \\ 1 & \mu \end{pmatrix} = c(1, c) \in C,$$

where C is B -invariant. Similarly, D is B -invariant. If $r(1, c) = s(1, d) \in C \cap D$, then $r = s$ and $rc = sd$; hence, $r(c - d) = 0$. Since $c - d \in U(R)$, we get $r = 0$. Thus, $C \cap D = 0$. Let $(a, b) \in 2R$. Choose $s = (b - ac)(d - c)^{-1}$ and $r = a - s$. Then $(a, b) = r(1, c) + s(1, d) \in C \oplus D$. Hence, $2R = C \oplus D$. Let $\gamma \in \text{end}(C)$. Then

$$1_C - B|_C \gamma: C \rightarrow C; \quad r(1, c) \mapsto r(1, c) - rc(1, c)\gamma.$$

Write $(1, c)\gamma = b(1, c)$ for $a, b \in R$. If $(r(1, c))(1_C - B|_C\gamma) = 0$, then $r(1, c) - rcb(1, c) = 0$, hence, $r(1 - cb)(1, c) = 0$. It follows from $c \in J(R)$ that $r = 0$, and so $r(1, c) = 0$. Thus, $1_C - B|_C\gamma$ is monomorphic. For any $r(1, c) \in C$ we see that

$$(r(1 - cb)^{-1}(1, c))(r(1, c))(1_C - B|_C\gamma) = r(1, c).$$

This implies that $1_C - B|_C\gamma$ is epimorphic. As a result, $1_C - B|_C\gamma$ is isomorphic. We infer that $B|_C \in J(\text{end}(C))$. Similarly, $(I_2 - B)|_D \in J(\text{end}(D))$. In light of Lemma 2.3, $B \in M_2(R)$ is strongly J -clean. \square

A matrix $A \in M_2(R)$ is cyclic if there exists a column α such that $(\alpha, A\alpha) \in GL_2(R)$.

Corollary 2.5. *Let R be a commutative projective-free ring, and let $A \in M_2(R)$. Then A is strongly J -clean if and only if*

- (1) $A \in J(M_2(R))$, or
- (2) $I_2 - A \in J(M_2(R))$, or
- (3) A is cyclic and $x^2 - \text{tr}(A)x + \det(A) = 0$ has a root in $J(R)$ and a root in $1 + J(R)$.

Proof. Suppose that A is strongly J -clean. If $A, I_2 - A \notin J(M_2(R))$, then A is similar to $\begin{pmatrix} 0 & \lambda \\ 1 & \mu \end{pmatrix}$, where $\lambda \in J(R)$, $\mu \in 1 + J(R)$, and the equation $x^2 - x\mu - \lambda = 0$ has a root in $J(R)$ and a root in $1 + J(R)$, by Theorem 2.4. In view of [3], Lemma 7.4.6, A is cyclic. As R is commutative, we see that $\text{tr}(A) = \mu$ and $\det(A) = -\lambda$, and so $x^2 - \text{tr}(A)x + \det(A) = 0$ has a root in $J(R)$ and a root in $1 + J(R)$.

Conversely, if $A \in J(M_2(R))$ or $I_2 - A \in J(M_2(R))$, then A is strongly J -clean. We now assume that A is cyclic and $x^2 - \text{tr}(A)x + \det(A) = 0$ has a root α in $J(R)$ and a root β in $1 + J(R)$. In view of [3], Lemma 7.4.6, A is isomorphic to a companion matrix $\begin{pmatrix} 0 & \lambda \\ 1 & \mu \end{pmatrix}$. This shows that $\mu = \text{tr}(A)$ and $\det(A) = -\lambda$. Since

$$\alpha^2 - \text{tr}(A)\alpha + \det(A) = 0 \quad \text{and} \quad \beta^2 - \text{tr}(A)\beta + \det(A) = 0,$$

we get $\text{tr}(A) = \alpha + \beta$ and $\det(A) = \alpha\beta$. Hence, $\mu = \alpha + \beta \in 1 + J(R)$ and $\lambda = -\alpha\beta \in J(R)$. Therefore, we complete the proof, by Theorem 2.4. \square

3. POWER SERIES OVER RINGS

This section is concerned on strongly J -clean decompositions in power series rings. An element $a \in R$ is optimally J -clean provided that there exists an idempotent $e \in R$ such that $a - e \in J(R)$ and $ae = ea$, and that for any $b \in R$ there exists $c \in R$ such that $[a, c] = [e, b]$. We now derive:

Lemma 3.1. *Let R be a ring and let $a \in R$. Then the following statements are equivalent:*

- (1) $a \in R$ is optimally J -clean.
- (2) There exists an idempotent $e \in R$ such that $a - e \in J(R)$ and $ae = ea$, and that for any $b \in R$ there exists $c \in eR(1 - e) + (1 - e)Re$ such that $[a, c] + [e, b] = 0$.

Proof. (1) \Rightarrow (2) Since $a \in R$ is optimally J -clean, there exists an idempotent $e \in R$ such that $a - e \in J(R)$ and $ae = ea$, and that for any $b \in R$ there exists $c \in R$ such that $[a, c] = [e, b]$. It is easy to check that

$$\begin{aligned} [a, ec(1 - e) + (1 - e)ce] &= [a, ec(1 - e)] + [a, (1 - e)ce] = e[a, c](1 - e) + (1 - e)[a, c]e \\ &= e[e, b](1 - e) + (1 - e)[e, b]e = [e, b], \end{aligned}$$

and therefore $[a, -ec(1 - e) - (1 - e)ce] + [e, b] = 0$.

(2) \Rightarrow (1) There exists an idempotent $e \in R$ such that $a - e \in J(R)$ and $ae = ea$, and that for any $b \in R$ there exists $c \in eR(1 - e) + (1 - e)Re$ such that $[a, c] + [e, b] = 0$. Choose $c' = -c$. Then $[a, c'] = [e, b]$, as required. \square

Lemma 3.2 ([10], Lemma 3.2.1). *Let R be a ring and let $n \geq 2$. If $e_0 = e_0^2 \in R$ and $e_k(1 - e_0) = \sum_{i=0}^{k-1} e_i e_{k-i}$ ($0 < k < n$), then*

$$e_0 \left(\sum_{i=1}^{n-1} e_i e_{n-i} \right) = \left(\sum_{i=1}^{n-1} e_i e_{n-i} \right) e_0.$$

Lemma 3.3 ([10], Theorem 3.2.2). *Let R be a ring and let $n \geq 2$. If $e_0 = e_0^2 \in R$, $e_k(1 - e_0) = \sum_{i=0}^{k-1} e_i e_{k-i}$ and $[r_0, e_k] + [r_1, e_{k-1}] + \dots + [r_k, e_0] = 0$ for all $0 < k < n$, then*

$$\left[r_0, \sum_{i=1}^{n-1} e_i e_{n-i} \right] = (1 - e_0) \left(\sum_{i=1}^{n-1} [e_i, r_{n-i}] \right) - \left(\sum_{i=1}^{n-1} [e_i, r_{n-i}] \right) e_0.$$

In [10], Shifflet studied strongly clean power series by means of the optimally clean condition. We now extend Theorem 3.2.2 of [10] to strongly J -clean power series and come now to the main result of this section.

Theorem 3.4. *Let R be a ring and let $f(x) \in R[[x]]$. If $f(0) \in R$ is optimally J -clean, then $f(x) \in R[[x]]$ is strongly J -clean.*

Proof. Write $f(x) = \sum_{i=0}^{\infty} r_i x^i$. Then we can find an idempotent e_0 such that $r_0 = e_0 + (r_0 - e_0)$ is an optimally J -clean decomposition of r_0 . In view of Lemma 3.1, there exists some $e_1 \in (1 - e_0)Re_0 + e_0R(1 - e_0)$ such that $[r_0, e_1] + [e_0, r_1] = 0$. Clearly, $e_1 = e_0e_1 + e_1e_0$. We shall prove that there exist $e_2, \dots, e_k, \dots \in R$ such that

$$e_k = e_0e_k + e_1e_{k-1} + \dots + e_k e_0 \quad \text{and} \quad [r_0, e_k] + [r_1, e_{k-1}] + \dots + [r_k, e_0] = 0.$$

Assume that this is true for all $1 \leq k \leq n - 1$. Set $f_n = (1 - 2e_0)(e_1e_{n-1} + e_2e_{n-2} + \dots + e_{n-1}e_1)$ and $s_n = r_n + [e_0, [e_1, r_{n-1}] + [e_2, r_{n-2}] + \dots + [e_{n-1}, r_1]]$. By virtue of Lemma 3.1, we have some $g_n \in (1 - e_0)Re_0 + e_0R(1 - e_0)$ such that $[r_0, g_n] = [e_0, s_n]$. Let $e_n = f_n + g_n$. In light of Lemma 3.2, analogously to Theorem 3.2.2 of [10], we obtain

$$\sum_{i=1}^{n-1} e_i e_{n-i} = (1 - e_0)e_n - e_n e_0.$$

Thus, $e_n = \sum_{i=1}^n e_i e_{n-i}$. Furthermore,

$$\begin{aligned} [r_0, f_n] &= \left[r_0, (1 - e_0) \left(\sum_{i=1}^{n-1} e_i e_{n-i} \right) \right] - \left[r_0, \left(\sum_{i=1}^{n-1} e_i e_{n-i} \right) e_0 \right] \\ &= (1 - e_0) \left[r_0, \left(\sum_{i=1}^{n-1} e_i e_{n-i} \right) \right] (1 - e_0) - e_0 \left[r_0, \left(\sum_{i=1}^{n-1} e_i e_{n-i} \right) \right] e_0. \end{aligned}$$

By using Lemma 3.3, we have

$$\left[r_0, \sum_{i=1}^{n-1} e_i e_{n-i} \right] = (1 - e_0) \left(\sum_{i=1}^{n-1} [e_i, r_{n-i}] \right) - \left(\sum_{i=1}^{n-1} [e_i, r_{n-i}] \right) e_0,$$

and then

$$[r_0, f_n] = (1 - e_0) \left(\sum_{i=1}^{n-1} [e_i, r_{n-i}] \right) (1 - e_0) + e_0 \left(\sum_{i=1}^{n-1} [e_i, r_{n-i}] \right) e_0.$$

Moreover,

$$\begin{aligned} [r_0, g_n] &= [e_0, s_n] = [e_0, r_n] + \left[e_0, \left[e_0, \sum_{i=1}^{n-1} [e_i, r_{n-i}] \right] \right] \\ &= [e_0, r_n] + e_0 \left(\sum_{i=1}^{n-1} [e_i, r_{n-i}] \right) (1 - e_0) + (1 - e_0) \left(\sum_{i=1}^{n-1} [e_i, r_{n-i}] \right) e_0. \end{aligned}$$

Thus, we have

$$\begin{aligned}
 [r_0, e_n] &= [r_0, f_n] + [r_0, g_n] \\
 &= [e_0, r_n] + e_0 \left(\sum_{i=1}^{n-1} [e_i, r_{n-i}] \right) (1 - e_0) + (1 - e_0) \left(\sum_{i=1}^{n-1} [e_i, r_{n-i}] \right) e_0 \\
 &\quad + (1 - e_0) \left(\sum_{i=1}^{n-1} [e_i, r_{n-i}] \right) (1 - e_0) + e_0 \left(\sum_{i=1}^{n-1} [e_i, r_{n-i}] \right) (1 - e_0) \\
 &= \sum_{i=0}^{n-1} [e_i, r_{n-i}],
 \end{aligned}$$

hence, $\sum_{i=0}^n [r_i, e_{n-i}] = 0$. By induction, the claim is true. Thus, $\sum_{i=0}^{\infty} e_i x^i = \left(\sum_{i=0}^{\infty} e_i x^i \right)^2 \in R[[x]]$ and $f(x) \left(\sum_{i=0}^{\infty} e_i x^i \right) = \left(\sum_{i=0}^{\infty} e_i x^i \right) f(x)$. Since $f(0) - e(0) \in J(R)$, we see that $f(x) - \sum_{i=0}^{\infty} e_i x^i \in J(R[[x]])$. Therefore, $f(x) \in R[[x]]$ is strongly J -clean, as asserted. \square

Corollary 3.5. *Let R be an abelian ring and let $f(x) \in R[[x]]$. If $f(0) \in R$ is strongly J -clean, then $f(x) \in R[[x]]$ is strongly J -clean.*

Proof. Suppose $f(0) \in R$ is strongly J -clean. Then there exists an idempotent $e \in R$ such that $f(0) - e \in J(R)$ and $f(0)e = ef(0)$. For any $b \in R$, we choose $c = 0 \in eR(1 - e) + (1 - e)Re$. Then $[f(0), c] + [e, b] = 0$, hence, $f(0)$ is J -optimally clean. Therefore, $f(x) \in R[[x]]$ is strongly J -clean in terms of Theorem 3.4. \square

Corollary 3.6. *Let R be a ring and let $f(x) \in R[[x]]$. Then the following statements are equivalent:*

- (1) $f(0) \in R$ is optimally J -clean.
- (2) $f(x) \in R[[x]]$ is optimally J -clean.

Proof. (1) \Rightarrow (2) In view of Theorem 3.4, $f(x) \in R[[x]]$ is strongly J -clean. Hence, there exists an idempotent $e(x) \in R[[x]]$ such that $w(x) := f(x) - e(x) \in J(R[[x]])$ and $f(x)e(x) = e(x)f(x)$. Thus, $f(x) = (1 - e(x)) + (2e(x) - 1 + w(x))$. As $(2e(x) - 1)^2 = 1$, we see that $(2e(x) - 1 + w(x)) = (2e(x) - 1)(1 + (2e(x) - 1)w(x)) \in U(R[[x]])$. By virtue of [10], Theorem 3.3.2, $f(x) \in R[[x]]$ is optimally clean. For any $b(x) \in R[[x]]$ there exists $c(x) \in R[[x]]$ such that $[f(x), -c(x)] = [1 - e(x), b(x)]$. This implies that $[f(x), c(x)] = [e(x), b(x)]$. Therefore, $f(x) \in R[[x]]$ is optimally J -clean, as desired.

(2) \Rightarrow (1) This is obvious. \square

Example 3.7. Let $\mathbb{Z}_{(2)} = \{m/n : m, n \in \mathbb{Z}, n \neq 0, (m, n) = 1, 2 \nmid n\}$ and

$$A(x) = \begin{pmatrix} \sum_{n=0}^{\infty} x^n & \sum_{n=0}^{\infty} x^{n+1} \\ -\sum_{n=0}^{\infty} \frac{1}{3^{n+1}} x^n & \sum_{n=0}^{\infty} \frac{2}{3^{n+1}} x^n \end{pmatrix} \in M_2(\mathbb{Z}_{(2)}[[x]]).$$

Then $A(x) \in M_2(\mathbb{Z}_{(2)}[[x]])$ is strongly J -clean.

P r o o f. Clearly, $A(0) = \begin{pmatrix} 1 & 0 \\ -\frac{1}{3} & \frac{2}{3} \end{pmatrix} \in M_2(\mathbb{Z}_{(2)})$. Since the characteristic equation $\chi_{A(0)} = x^2 - \frac{5}{3}x + \frac{2}{3}$ has roots 1 and $\frac{2}{3}$, we see that $A(0)$ is similar to $C = \begin{pmatrix} 1 & 0 \\ 0 & \frac{2}{3} \end{pmatrix}$. Let $E = \text{diag}(1, 0)$. Then $E^2 = E$, $EC = CE$ and $C - E = \begin{pmatrix} 0 & 0 \\ 0 & \frac{2}{3} \end{pmatrix} \in J(M_2(\mathbb{Z}_{(2)}))$.

Let $B = (b_{ij}) \in M_2(\mathbb{Z}_{(2)})$. Choose $x_1 = 3b_{12}$ and $x_2 = 3b_{21}$. Set $X = \begin{pmatrix} 0 & x_1 \\ x_2 & 0 \end{pmatrix}$. Then

$$[C, X] = \begin{pmatrix} 0 & b_{12} \\ -b_{21} & 0 \end{pmatrix} = [E, B].$$

Accordingly, C is optimally J -clean. Hence, $A(0) \in M_2(\mathbb{Z}_{(2)})$ is J -optimally clean. Therefore, $A(x) \in M_2(\mathbb{Z}_{(2)}[[x]])$ is strongly J -clean by Theorem 3.4. \square

Acknowledgement. The authors would like to thank the referee for his/her helpful comments leading to the improvement of this paper.

References

- [1] *D. D. Anderson, V. P. Camillo*: Commutative rings whose elements are a sum of a unit and idempotent. *Commun. Algebra* *30* (2002), 3327–3336. [zbl](#) [MR](#) [doi](#)
- [2] *N. Ashrafi, E. Nasibi*: Strongly J -clean group rings. *Proc. Rom. Acad., Ser. A, Math. Phys. Tech. Sci. Inf. Sci.* *14* (2013), 9–12. [zbl](#) [MR](#)
- [3] *H. Chen*: Rings Related Stable Range Conditions. Series in Algebra 11. World Scientific, Hackensack, 2011. [zbl](#) [MR](#) [doi](#)
- [4] *H. Chen*: Strongly J -clean matrices over local rings. *Commun. Algebra* *40* (2012), 1352–1362. [zbl](#) [MR](#) [doi](#)
- [5] *P. V. Danchev, W. W. McGovern*: Commutative weakly nil clean unital rings. *J. Algebra* *425* (2015), 410–422. [zbl](#) [MR](#) [doi](#)
- [6] *A. J. Diesl, T. J. Dorsey*: Strongly clean matrices over arbitrary rings. *J. Algebra* *399* (2014), 854–869. [zbl](#) [MR](#) [doi](#)
- [7] *T. J. Dorsey*: Cleanness and Strong Cleanness of Rings of Matrices: Ph.D. Thesis. University of California, Berkeley, 2006. [MR](#)
- [8] *L. Fan, X. Yang*: A note on strongly clean matrix rings. *Commun. Algebra* *38* (2010), 799–806. [zbl](#) [MR](#) [doi](#)
- [9] *M. T. Koşan, T. Yildirim, Y. Zhou*: Rings whose elements are the sum of a tripotent and an element from the Jacobson radical. *Can. Math. Bull.* *62* (2019), 810–821. [zbl](#) [MR](#) [doi](#)
- [10] *D. R. Shifflet*: Optimally Clean Rings: Ph.D. Thesis. Bowling Green State University, Bowling Green, 2011. [MR](#)
- [12] *X. Yang, Y. Zhou*: Strong cleanness of the 2×2 matrix ring over a general local ring. *J. Algebra* *320* (2008), 2280–2290. [zbl](#) [MR](#) [doi](#)

- [13] *H. Zhu, H. Zou, P. Patrício*: Generalized inverses and their relations with clean decompositions. *J. Algebra Appl.* 18 (2019), Article ID 1950133, 9 pages.



Authors' addresses: H u a n y i n C h e n, School of Mathematics, Hangzhou Normal University, No. 2318, Yuhangtang Road, 311121, Hangzhou, P. R. China, e-mail: huanyinchen@aliyun.com; M a r j a n S h e i b a n i (corresponding author), Farzanegan Campus, Semnan University, 17 Shahrivar Blvd. Semnan, Iran, e-mail: m.sheibani@semnan.ac.ir; R a h m a n B a h m a n i, Faculty of Mathematics, Statistics and Computer Science, Semnan University, P.O. Box: 35195-363, Semnan, Iran, e-mail: rbahmani@semnan.ac.ir.